

12/19/2022

Vendor Ranking

Page 1 of 1

08221213 Letting:

December 13, 2022 02:30

Call Order: 002

Contract:

E8U14-R0

District:

Turnpike

Counties: BROWARD, MIAMI-DADE, Fed Aid No: N/A

PALM BEACH, TURNPIKE Project(s): 44592817202 (*)

Contract Time: 365 CALENDAR DAYS

Contract Desc: FENCE MAINTENANCE - ZONE 1

PM

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	SOUTHEAST HIGHWAY GUARDRAIL & ATTENUATORS, LLC	Responsive	Winning bid	\$108,027.00	100.00% Inte
2	COMPLETE HIGHWAY IMPROVEMENT IN	Responsive	Non-Winning Bid	\$120,796.00	111.82%
3	T & M LAWN-FENCE SERVICE INC	Responsive	Non-Winning Bid	\$187,375.00	173.45%
4	GOMEZ & SON FENCE CORP.	Responsive	Non-Winning Bid	\$188,355.00	174.36%
5	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$313,950.00	290.62%
	PHOENIX FENCE CORP	Non Responsive	Non-Winning Bid		

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: DECEMBER 27, 2022, 4:00 PM





Tabulation of Bids

Page 1 of 6

Letting: 08221213 December 13, 2022 **Call Order:** 002 **Contract:** E8U14-R0

District: Turnpike Counties: BROWARD, MIAMI- Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

DADE, PALM BEACH, Project(s): 44592817202 (*)

Contract Descr: FENCE MAINTENANCE - ZONE 1

The work specified in this contract consists of providing all labor, materials, equipment and incidentals necessary to perform fence maintenance including the removal, repair, and/or replacement of damaged or destroyed sections with all associated components at various locations on the Homestead Extension of Florida's Turnpike, Milepost (MP) 0.0 to 46.5, Florida's Turnpike, Milepost (MP) 0X to 100.0, and Sawgrass Expressway, MP 0.0 to 22.5.

Prior to beginning work under this Contract, the Contractor shall submit to the Engineer for approval, two copies of the Contractor's proposed plan and methods for performing the work, including a listing of equipment and personnel anticipated for use.

The Contractor shall perform all work during day hours in accordance with the Turnpike Lane Closure Policy.

No U-turns shall be permitted as a condition of this Contract, except at Service Plazas.

NO PRE-BID CONFERENCE WILL BE HELD FOR THIS PROJECT.

Line No / Item ID Item Description	Alternate	Quantity Units	(1) SOUTHEAS GUARD	RAIL &	(2) COMPLET IMPROVE		· · ·	AWN-FENCE CE INC
() indicates item is bi	d as Lump Sum		ATTENUAT Unit Price	ORS, LLC Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001 (F	ENCE REPA	IR (LF					
0005 0550 10210 FENCING, TYPE B, 0. FEATURES	0-5.0', STANDAR	200.000 RD LF	0.01000	2.00	0.10000	20.00	15.00000	3,000.00
0010 0550 10220 FENCING, TYPE B, 5.	1-6.0', STANDAR	4,000.000 RD LF	14.00000	56,000.00	18.00000	72,000.00	22.50000	90,000.00
0015 0550 10221 FENCING, TYPE B, 5. WIRE ATTMT	1-6.0', W/ BARB	1,000.000 LF	0.25000	250.00	0.10000	100.00	22.50000	22,500.00
0020 0550 10228 FENCING, TYPE B, 5. EXISTING	1-6.0, RESET	2,000.000 LF	7.00000	14,000.00	0.50000	1,000.00	7.50000	15,000.00



Page 2 of 6

Florida Department of Transportation



Tabulation of Bids

Letting: 08221213 December 13, 2022 Call Order: 002 Contract: El	act: E8U14-R0
------------------------------------------------------------------	---------------

Letting	g: 08:	221213 [December 13,	2022 Ca l	I Order: 002		Contract:	E8U14-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) SOUTHEAS GUARD	RAIL &	(2) COMPLET IMPROVE		` '	AWN-FENCE ICE INC
() ind	licates item is bid	as Lump Sum		ATTENUAT Unit Price	ORS, LLC Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(FENCE REPA	IR (LF					
0025 FENCE 12.0' OP	0550 60222 GATE, TYPE B PENING	s, DOUBLE, 6.1	1.000 - EA	1,000.00000	1,000.00	100.00000	100.00	1,500.00000	1,500.00
0030 FENCE	E550 6221 POST BRACE	(TYPE B) (6')	15.000 EA	200.00000	3,000.00	0.10000	1.50	300.00000	4,500.00
0035 FENCE	E550 6222 POST LINE (T)	YPE B) (6')	275.000 EA	95.00000	26,125.00	90.00000	24,750.00	80.00000	22,000.00
0040 FENCE	E550 6224 POST PULL (T	YPE B) (6')	20.000 EA	30.00000	600.00	10.00000	200.00	300.00000	6,000.00
	E550 7221 MAINTENANCI D WIRE) (6')	E (TYPE B)	4,500.000 LF	0.20000	900.00	1.00000	4,500.00	0.75000	3,375.00
	E550 7222 MAINTENANCI FABRIC) (6')	E (TYPE B)	1,500.000 LF	0.10000	150.00	12.00000	18,000.00	1.50000	2,250.00
0055 FENCE, (TYPE B	E550 32 30 CORNER POS 3) (6')	ST ASSEMBLY	30.000 EA	100.00000	3,000.00	0.10000	3.00	300.00000	9,000.00
	E550 32 31 CORNER POS WIRE ATTAC		10.000 PB, EA	100.00000	1,000.00	2.00000	20.00	300.00000	3,000.00
	E550 51 30 PULL POST A COAT) (6')	SSEMBLY (TY	5.000 PE EA	70.00000	350.00	0.10000	0.50	300.00000	1,500.00





Tabulation of Bids

Page 3 of 6

Lettin	g : 08	8221213 D	ecember 13,	2022 Cal	l Order: 002		Contract:	E8U14-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) SOUTHEAS GUARD	RAIL &	(2) COMPLET IMPROVE			AWN-FENCE ICE INC
() in	dicates item is bi	id as Lump Sum		ATTENUAT Unit Price	ORS, LLC Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001 (FENCE REPA	IR (LF					
0070 FENCE (6')	E550 61 30 , END POST A	ASM (TYP B, ZING	5.000 C) EA	200.00000	1,000.00	0.10000	0.50	300.00000	1,500.00
0075 FENCE (8')	E550 61 40 , END POST A	ASM (TYP B, ZING	5.000 C) EA	100.00000	500.00	0.10000	0.50	300.00000	1,500.00
0080 FENCE	E550 80 GATE- REPA	IR EXISTING	1.000 EA	150.00000	150.00	100.00000	100.00	750.00000	750.00
	0001 FENCE F	REPAIR (LF) Sec	ction Totals:		\$108,027.00 [']		\$120,796.00		\$187,375.00
		Contract Gra	nd Totals:		\$108,027.00		\$120,796.00		187,375.00



Page 4 of 6

Florida Department of Transportation



Tabulation of Bids

	Letting:	08221213	December 13, 2022	Call Order: 002	Contract:	E8U14-R0
--	----------	----------	-------------------	-----------------	-----------	----------

Letting	g: 08	3221213	December 13,	2022 Cal	l Order: 002		Contract:	E8U14-R0	
	No / Item ID Description	Alternate	Quantity Units	(4) GOMEZ & COF		(5) ROGAR MA CONSULTING	OF FLORIDA		
	dicates item is bid	d as Lump Sum		Unit Price	Ext Amount	Unit Price	.C Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(FENCE REPA	IR (LF					
0005 FENCIN FEATUR	0550 10210 IG, TYPE B, 0.0 RES	0-5.0', STAND	200.000 ARD LF	3.00000	600.00	20.00000	4,000.00		
0010 FENCIN	0550 10220 IG, TYPE B, 5.	1-6.0', STAND	4,000.000 ARD LF	8.90000	35,600.00	26.55000	106,200.00		
0015 FENCIN WIRE A	0550 10221 IG, TYPE B, 5. TTMT	1-6.0', W/ BAR	1,000.000 B LF	4.00000	4,000.00	34.65000	34,650.00		
0020 FENCIN EXISTIN	0550 10228 IG, TYPE B, 5. IG	1-6.0, RESET	2,000.000 LF	5.00000	10,000.00	10.00000	20,000.00		
0025 FENCE 12.0' OF	0550 60222 GATE, TYPE E PENING	3, DOUBLE, 6.	1.000 1- EA	600.00000	600.00	3,800.00000	3,800.00		
0030 FENCE	E550 6221 POST BRACE	(TYPE B) (6')	15.000 EA	15.00000	225.00	200.00000	3,000.00		
0035 FENCE	E550 6222 POST LINE (T	YPE B) (6')	275.000 EA	236.00000	64,900.00	200.00000	55,000.00		
0040 FENCE	E550 6224 POST PULL (1	TYPE B) (6')	20.000 EA	200.00000	4,000.00	200.00000	4,000.00		
	E550 7221 MAINTENANC ED WIRE) (6')	E (TYPE B)	4,500.000 LF	8.95000	40,275.00	11.00000	49,500.00		



Tabulation of Bids

Page 5 of 6

Letting:	08221213	Dec	ember 13,	2022 Cal	Order: 002		Contract:	E8U14-R0	
Line No / It Item Descr		rnate	Quantity Units	(4) GOMEZ & COF		(5) ROGAR MAN	OF FLORIDA		
	tem is bid as Lump	Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001	(FE	NCE REPAI	R (LF					
	7222 ENANCE (TYPE IC) (6')		1,500.000 LF	8.75000	13,125.00	12.00000	18,000.00		
0055 E550 FENCE, CORN (TYPE B) (6')	32 30 IER POST ASSEI	MBLY	30.000 EA	280.00000	8,400.00	200.00000	6,000.00		
0060 E550 FENCE, CORN W/BARB WIRE	IER POST ASSEI	M (TYP B	10.000 , EA	230.00000	2,300.00	250.00000	2,500.00		
0065 E550 FENCE, PULL B, ZINC COAT	POST ASSEMBL	Y (TYPE	5.000 EA	290,00000	1,450.00	200.00000	1,000.00		
0070 E550 FENCE, END I (6')	61 30 POST ASM (TYP	B, ZINC)	5.000 EA	250.00000	1,250.00	200.00000	1,000.00		
0075 E550 FENCE, END (8')	61 40 POST ASM (TYP	B, ZINC)	5.000 EA	250.00000	1,250.00	300.00000	1,500.00		
0080 E550 FENCE GATE-	80 REPAIR EXISTII	NG	1.000 EA	380.00000	380.00	3,800.00000	3,800.00		
0001 FI	ENCE REPAIR (L	F) Section	on Totals:		\$188,355.00		\$313,950.00		



12/19/2022

Tabulation of Bids

Page 6 of 6

Letting: 08221213

December 13, 2022

Call Order: 002

Contract:

E8U14-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.